N do/dA

Ratio to DELPHI

10°

10?

10

0.5

91

GQV ee

y*/Z (Hadronic)

_| T I I I I |_
= =
— l\ -
8§ |
—— !\ p—
SN =
— L N 7]
- L N ]
= ' =
— \i\\ _]
B \ﬁi\*l:@\ |
E \:ﬁ::::\% E
_ m  DELPHI e _
= --0-- Herwig++ 2.7.1 default - =
L --3-- Herwig 7.2.1 default = —
n | | L, L, | |, L n
:l T T T | T T T | T T T |:
- e 3
L - o--" .
— ) o ]
B -0 ]
- g g B BT = -
[ Q b i
S50 0.0 i
| " 1 1 1 " | " 1 " 1 1 " | 1 1 " 1 " |
0 0.1 0.2 0.3

Rivet 3.1.10, = 2.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


